
ሺ�ሻ݂ ݎܽ݌ ℝ ݎݑݏ ݁�݊�é݂݀ ݊݋�ݐܿ݊݋݂ ݈ܽ ݂ ݐ�݋� 7 ݁ܿ�ܿݎ݁�� = ݁−�²ଶ . �݊ ݀é݂�݊�݁ݐ�ݑݏ ݈ܽ ݐ ሺݑ�ሻݑ ݎܽ݌଴ = Ͳ ݁ݐ ∀݊ ∈ ℕ, ଵ+�ݑ = ݂ሺݑ�ሻ. 
1) ܽሻ �݁ݑݍ ݎ݁ݎݐ݊݋ ݈′é݂݊݋�ݐܽݑݍሺ�ሻ = �, ܿ݁ݑ݊݊݋ܿ݊�′݀ ∈ [Ͳ; ͳ], � ݐݑ݋ݐ ݎݑ݋݌ ݁ݑݍ ݎ݁ݎݐ݊݋� é݁ �. ܾሻݐ݋݊ ,݊݋�ݐݑ݈݋ݏ ݈݁ݑ݁ݏ ݁݊ݑ ݐ݁݉݀ܽ ∈ [Ͳ; ͳ], ݂ሺ�ሻ ∈ [Ͳ; ͳ]. ܿሻ �݁ݑݍ ݎ݁ݎݐ݊݋ ∀� ∈ [Ͳ; ͳ], |݂′ሺ�ሻ| ≤ ͳ√݁ 

2) ܽሻ �݁ݑݍ ݎ݁ݎݐ݊݋ ∀݊ ∈ ℕ, �ݑ ∈ [Ͳ; ͳ]. ܾሻ �݁ݑݍ ݎ݁ݎݐ݊݋ ∀݊ ∈ ℕ, ଵ+�ݑ| − �| ≤ ͳ√݁ �ݑ| − �|. �݊ ݀é݀݁ݎ�ݑ ∶  ∀݊ ∈ ℕ, �ݑ| − γ| ≤ ( ͳ√݁)� . ܿሻ �݁ݑݍ ݎ�݈ܾܽݐ ሺݑ�ሻܿ݁ݐ�݉�݈ ܽݏ ݎ݁݊݊݋݀ ݐ݁ ݁݃ݎ݁ݒ݊݋. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 
 

 

 



 
 

 

 

 

 



 
 

 

 

 

 



 


